PROFESSIONAL EXAMINATION BOARD

Combined Group-4 Recruitment Test : 2016

19th December 2016, 09:00 AM
Topic:- General Knowledge

1)
Question ID :- (Question ID = 51640 )
Question Description :- HP12 GENERAL KNOWLEDGE SET1Q15

Question Stimulus :-

Lee Hsien Loong is the present Prime Minister of — / &t RIgq ?Irr o ° 9 g 1 & adu=
" w52

(Option ID = 146422 )

South Korea / gf&for Hif¥ar

e (Option ID = 146423 )
Philippines / ftreidi

e (Option ID = 146424 )
Thailand / 4TSAS

e (Option ID = 146425)

None of these / ?F-I'Ef J ?ﬁ? T-Iﬁ

Option ID :-0Correct Answer :-(Option ID = 146425 ) None of these / Eﬁ J Hﬁg &l

2)
Question ID :- (Question ID = 51634 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET1Q9
Question Stimulus :-
The Malwa Plateau lies to the north of - / ATeaT TR 9 # § fead 3w fezn o fRa 82
e (Option ID = 146398 )
Vindhya Range / fa=amera udd g@en
e (Option ID = 146399 )
Satpura Range / ST Udd @l
e (Option ID = 146400 )
Jhabua Hills / T3 Udd

« (Option ID = 146401 )



Bundelkhand Plateau/ §<AEUS & USR
Option ID :-0Correct Answer :-(Option ID = 146398 ) Vindhya Range / fo=amae udq WFIT
3)
Question ID :- (Question ID = 51626)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q1
Question Stimulus :-

The Karera Wildlife Sanctuary was formed to protect which of the following bird species? /

PR FUSINT HRVY BT RITYAT 9 & § f5g ysinfa & ueft & weor & forw &) mit 2

(Option ID = 146366 )

Indian Paradise Flycatcher / gURTS

(Option TD = 146367 )
Great Indian Bustard / 98+ faIfear

(Option ID = 146368 )

Bulbul / §eidd
(Option ID = 146369 )

Indian Roller / Tid® s g&it

Option ID :-0Correct Answer :-(Option ID = 146367 ) Great Indian Bustard / |18 fIf$ar

4)

Question ID :- (Question ID = 51633)

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1QS8
Question Stimulus :-

Which of the following kind of soil is generally found in Southern Bundelkhand region? /

<faroft g eavs a7 # wruRvE: Fafafed & 3 fra yer @ g urd ord 22

(Option ID = 146394 )

Red Soil / Tt fArgt

(Option ID = 146395 )

Black Soil / &Telt gt

(Option ID = 146396 )

Alluvial Soil / sTeite farg

(Option ID = 146397 )



Laterite Soil / exTge HET
Option ID :-0Correct Answer :-(Option ID = 146395 ) Black Soil / Tl firg}
S)
Question ID :- (Question ID =51627)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q2
Question Stimulus :-

When did Madhya Pradesh introduce Gender Budgeting? / & USRT = JAuYH T smenfd

qoIC BT UKIAIBR0l Hd fhar?
e (Option ID = 146370 )
2005
e (Option ID = 146371)
2006
e (Option ID = 146372)
2007
e (Option ID = 146373 )
2008
Option ID :-0Correct Answer :-(Option ID = 146372 ) 2007
6)
Question ID :- (Question ID = 51635 )
Question Description :- HP12 GENERAL KNOWLEDGE _SET1Q10
Question Stimulus :-

What is the minimum age for being an applicant under the Mukhyamantri Yuva Swarozgar

Yojana? | GBIt GaT TWRISHTR AT § 3fTded g1 B gaH Mg fHa-t 82
e (Option ID =146402)
18
e (Option ID = 146403 )
20
e (Option ID = 146404 )
21
« (Option ID = 146405 )

23



Option ID :-0Correct Answer :-(Option ID = 146402 ) 18

7

Question ID :- (Question ID = 51638)

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q13

Question Stimulus :-

Surya Kiran is the joint military exercise between India and -/ Wﬁmiﬁﬁﬁ'ﬁﬁ'@ﬂﬁ
J fora 3 & Ty« g fH=or A Sged /- rar foear?

(Option ID = 146414 )
Bangladesh / STATSRT
(Option ID = 146415 )
Nepal / ure

(Option ID = 146416 )
Sri Lanka / 8 @1
(Option ID = 146417 )

Myanmar / "HR

Option ID :-0Correct Answer :-(Option ID = 146415 ) Nepal / LI

8)

Question ID :- (Question ID = 51642 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q17

Question Stimulus :-

When is the World Tsunami Awareness Day celebrated? / fa% ATt Sl faw &9
T ST 272

(Option ID = 146430 )
November 3 / &R 3
(Option ID = 146431 )
November 4 / &R 4
(Option ID = 146432 )
November 5 / &R §
(Option ID = 146433 )

November 6 / Td&IR 6



Option ID :-0Correct Answer :-(Option ID = 146432 ) November 5/ HdHIX 5
9)

Question ID :- (Question ID = 51632 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q7

Question Stimulus :-

Recently BHEL inaugurated a .................. MW Coal based Thermal Power Plant Project in
Seoni. /AT HUTARGAH ......c...c...... WETe $t HIAdm AT ardt et wa=
TR &1 JURT fHar |

e (Option ID = 146390 )
600
e (Option ID = 146391)
700
e (Option ID = 146392)
800
e (Option ID =146393)
900
Option ID :-0Correct Answer :-(Option ID = 146390 ) 600
10)
Question ID :- (Question ID = 51628)
Question Description :- HP12_GENERAL KNOWLEDGE_SET1Q3

Question Stimulus :-

On which of the following river’s bank is the Simhastha Kumbha Mela held? fafafead s
fra 7 & I W Riswy (w1 A< 1 o= fHar Srar 82

e (Option ID =146374)
Chambal / WA

e (Option ID =146375)
Shipra/ f&I'CIT

e (Option ID =146376)
Narmada / FHaT

e (Option ID =146377)

Parbati Iqﬁ?ﬂ



Option ID :-0Correct Answer :-(Option ID = 146375 ) Shipra / farur
11)

Question ID :- (Question ID = 51631 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q6
Question Stimulus :-

Which of the following districts of Madhya Pradesh borders both Maharashtra and
Chhattisgarh state? / Frafifead # & 7w yd=1 &1 oI A1 forem WeRTY 3R Biag Y Irsal
AWM R RAE 2

« (Option ID = 146386 )
Dindori / fESRY
« (Option ID = 146387 )
Balaghat / dT¢TdTC
e (Option ID = 146388 )
Seoni / Ryat
e (Option ID =146389)
Anuppur / S-JOYY
Option ID :-0Correct Answer :-(Option ID = 146387 ) Balaghat / dTdITdIC
12)
Question ID :- (Question ID = 51637)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q12
Question Stimulus :-
What is the Sendai Framework related to: /'\ﬁ?ﬂﬁ hHad fPad grfid %:
« (Option ID = 146410 )
Economic Integration of Asia / Qﬁ'ITIT &1 fa<ita t{?ﬂ?ﬂ'UT T
« (Option ID = 146411 )
Protection of the Coral Reefs / 1{& L4 ilE'Fﬁ L4 qR&m q
« (Option ID = 146412)
Disaster Risk Reduction /3(TUGT SITGH # & @ I
« (Option ID = 146413 )

None of these / ?F-I'ef | aﬁﬁ L



Option ID :-0Correct Answer :-(Option ID = 146412 ) Disaster Risk Reduction /3{TUqQI wifew |

CICIE R

13)

Question ID :- (Question ID = 51639)

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q14

Question Stimulus :-

MGK Menon who had recently passed away was a renowned . l@.ﬁﬂ.ﬁ. A9 foFaT
A HEASI TG, Ui F|
e (Option ID = 146418)
Scientist /A&

e (Option ID = 146419 )
Singer / AP

e (Option ID = 146420 )
Author | §G®

e (Option ID = 146421)

Politician / ST

Option ID :-0Correct Answer :-(Option ID = 146418 ) Scientist I%?IT&HT
14)

Question ID :- (Question ID = 51641 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q16

Question Stimulus :-

How many states will utilize the Urja Ganga pipeline launched recently? / gTcl Bl H U™ ISl
T UTSUETS- &1 IUANT fova= Ireul gy far smemm?

« (Option ID = 146426 )
3

« (Option ID = 146427)
4

« (Option ID = 146428 )
5

« (Option ID = 146429)
6



Option ID :-0Correct Answer :-(Option ID = 146428 ) 5

15)

Question ID :- (Question ID = 51630)

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q5

Question Stimulus :-

In which of the following places is the Chandni Thermal Power Plant situated? | fFrafaftaa o

A B I WM W Fig- a1y fagaa & Ra g2
e (Option ID = 146382)
Burhanpur (City) / ¥eTHYR (RMEX)
e (Option ID = 146383)
Nepanagar / IR
e (Option ID = 146384 )
Khandwa / G&dT
e (Option ID = 146385)
Mandsaur / HgHR
Option ID :-0Correct Answer :-(Option ID = 146384 ) Khandwa / EsdTl
16)
Question ID :- (Question ID = 51629 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q4
Question Stimulus :-

Madhya Pradesh is the ............... state in India to approve set up of a Happiness Ministry. /

ST WSRT GRIGTA! HATT BT RITYAT BT SFHIGT & aTAT R BT ..o, TR
« (Option ID = 146378)
First / Wud
« (Option ID = 146379)
Second / fgda
« (Option ID = 146380)
Third / i
« (Option ID = 146381)

Fourth /il"g'ﬁf



Option ID :-0Correct Answer :-(Option ID = 146378 ) First / UYH
17)

Question ID :- (Question ID = 51636 )

Question Description :- HP12_GENERAL KNOWLEDGE_SET1Q11

Question Stimulus :-

Which Indian Bank is the first to issue Masala Bonds? Iﬁ'&lﬁl‘@ﬁ | ﬁ g yrRd a'ﬂi C|
JAYYH HHTET 918 BT IR fhar?

e (Option ID = 146406 )
ICICI Bank/3iTg.3}.3ms. 3. 3. 9%

e (Option ID = 146407 )
SBI / YRdIY e dF

o (Option ID = 146408 )
Axis Bank/Tf® §&

e (Option ID =146409)
HDFC Bank/Ta.3t UGt 8@

Option ID :-0Correct Answer :-(Option ID = 146409 ) HDFC Bank/Ta.3.T% .45

Topic:- General English
1))

Question ID :- (Question ID = 51491 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q2
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word.

Public ignorance about the disease is still a cause of concern.
e (Option ID = 145826)
Knowledge
e (Option ID = 145827)
Understanding
e (Option ID = 145828)
Awareness
e (Option ID =145829)

Unawareness



Option ID :-0Correct Answer :-(Option ID = 145829 ) Unawareness
2)
Question ID :- (Question ID =51502)
Question Description :- HP12_ GENERAL ENGLISH_SET3Q13
Question Stimulus :-
Fill in the blank with the correct set of prepositions.
The temperature is expected  drop __ ten degrees_ zero tonight.
e (Option ID = 145870 )
of, to, above
e (Option ID = 145871)
for, of, below
e (Option ID =145872)
to, to ,below
e (Option ID = 145873)
by, of, below
Option ID :-0Correct Answer :-(Option ID = 145872 ) to, to ,below
3)
Question ID :- (Question ID = 51505)
Question Description :- HP12_ GENERAL ENGLISH_SET3Q16

Question Stimulus :-

Once there lived a blind man in a small town. He always carried a lighted lamp in his hand whenever he went
out at night. On one dark night he was going with his lighted lamp in his hand. A group of men were passing
that way. They saw the blind man and made fun of him. They said, 'O Blind man why do you carry the lighted
lamp when you are blind and cannot see anything?” The blind man politely said, ""This lamp is not for me, but
for you people who have eyes. You may not see a blind man coming and push him. They felt ashamed and

begged pardon.
What do you think would be the moral of the given extract?
e (Option ID = 145882 )
The one-eyed person is a beauty in the country of the blind.
e (Option ID = 145883)
Better be one-eyed than quite blind.
e (Option ID = 145884 )

When the blind lead the blind, both shall fall into the ditch.



e (Option ID = 145885 )
Think twice before you speak.
Option ID :-0Correct Answer :-(Option ID = 145885 ) Think twice before you speak.
4)
Question ID :- (Question ID = 51492 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q3
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite to the
highlighted word from the given options.

Stewart asked me to lend him my car.
e (Option ID = 145830)
repair
e (Option ID =145831)
give
e (Option ID = 145832)
buy
e (Option ID =145833)
borrow
Option ID :-0Correct Answer :-(Option ID = 145833 ) borrow
S)
Question ID :- (Question ID = 51504 )
Question Description :- HP12_ GENERAL ENGLISH_SET3Q15
Question Stimulus :-
Fill in the blank with the word given in the bracket along with the correct prefix out of the given four options.
If you're  (satisfied) with the service, why don't you complain to the hotel manager?
e (Option ID = 145878 )
in
e (Option ID =145879)
pre
e (Option ID = 145880 )

un



e (Option ID = 145881 )
dis
Option ID :-0Correct Answer :-(Option ID = 145881 ) dis
6)
Question ID :- (Question ID = 51500 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q11
Question Stimulus :-
Out of the four options given below, choose the one with the correct meaning of the idiom.
“Burn the midnight oil”
e (Option ID = 145862 )
To do daring things at night
e (Option ID = 145863 )
To study only in the light of the lamp
e (Option ID = 145864 )
To pour extra oil in the lamp
e (Option ID = 145865)
Staying awake in the night either studying, reading or working

Option ID :-0Correct Answer :-(Option ID = 145865 ) Staying awake in the night either studying, reading
or working

7
Question ID :- (Question ID = 51501 )
Question Description :- HP12 GENERAL ENGLISH_SET3Q12
Question Stimulus :-
Two sentences are given below. Choose the correct conjunction to join the given sentences.
I enjoyed her new book.
It's not quite as good as her last one.
e (Option ID = 145866 )
though
e (Option ID = 145867 )
and

« (Option ID = 145868 )



as
e (Option ID = 145869 )
as if
Option ID :-0Correct Answer :-(Option ID = 145866 ) though
8)
Question ID :- (Question ID = 51497 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q8
Question Stimulus :-
Out of the given options, choose the one which is the correct indirect speech of the sentence given below.
The teacher said to Janet, “work regularly.”
e (Option ID = 145850)
The teacher advised Janet to work regularly.
e (Option ID = 145851)
The teacher ordered Janet that she should be working regularly.
e (Option ID = 145852)
The teacher pleaded Janet to work regularly.
e (Option ID = 145853)
The teacher warned Janet to be working regularly.
Option ID :-0Correct Answer :-(Option ID = 145850 ) The teacher advised Janet to work regularly.
9)
Question ID :- (Question ID = 51506 )
Question Description :- HP12_ GENERAL ENGLISH_SET3Q17
Question Stimulus :-

DIRECTIONS: Given below are four sentences with an incorrect order. Arrange them in a meaningful order
to form a coherent whole.

P. Ozone is a colourless gas which is found in the stratosphere of our upper atmosphere.
Q. It is also one of the prime reasons which are leading to global warming.
R. The layer of ozone gas protects us from the harmful ultraviolet radiations of the sun.
S. Ozone layer depletion is one of the most serious problems faced by our planet earth.
e (Option ID = 145886 )
QPRS

« (Option ID = 145887 )



RPQS
e (Option ID = 145888 )
PSRQ
e (Option ID = 145889 )
SQPR
Option ID :-0Correct Answer :-(Option ID = 145889 ) SQPR
10)
Question ID :- (Question ID =51499)
Question Description :- HP12_ GENERAL ENGLISH_SET3Q10
Question Stimulus :-
Out of the four sentences given below, choose the one which is grammatically incorrect.
e (Option ID = 145858 )
Do you think Australia is a more democratic country than Britain?
e (Option ID =145859)
Fresh vegetables are better to you than canned ones.
e (Option ID = 145860 )
It's much better to have a small, cosy room than a big, cold one.
e (Option ID = 145861 )
It is one of the most exciting books that I have ever read.

Option ID :-0Correct Answer :-(Option ID = 145859 ) Fresh vegetables are better to you than canned
ones.

11)
Question ID :- (Question ID = 51493 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q4
Question Stimulus :-
Out of the given four words one is spelt incorrectly. Find the word that is incorrectly spelt
e (Option ID =145834)
anounce
e (Option ID = 145835)
pronounce

« (Option ID = 145836)



recite
e (Option ID = 145837)
exhibit
Option ID :-0Correct Answer :-(Option ID = 145834 ) anounce
12)
Question ID :- (Question ID = 51496 )
Question Description :- HP12_ GENERAL ENGLISH_SET3Q7
Question Stimulus :-
Out of the given options, choose the one which is the correct passive voice of the sentence given below.
All trust an honest man.
e (Option ID = 145846 )
An honest man was trusted by all.
e (Option ID =145847)
An honest man is trusted by all.
e (Option ID = 145848 )
An honest man should be trusted by all.
e (Option ID = 145849 )
An honest man can be trusted by all.
Option ID :-0Correct Answer :-(Option ID = 145847 ) An honest man is trusted by all
13)
Question ID :- (Question ID = 51495 )
Question Description :- HP12 GENERAL ENGLISH_SET3Q6
Question Stimulus :-

DIRECTIONS: Two sentences are given below with a blank in each. Fill in the blanks with a pair of suitable
words from the four options for each blank respectively:

Queen Victoria _ over Britain from 1837 to 1901.
It heavily last night
e (Option ID =145842)
reigned, rained
e (Option ID =145843)
rained, reigned

« (Option ID = 145844 )



rained, rained
e (Option ID = 145845)
reigned, reigned
Option ID :-0Correct Answer :-(Option ID = 145842 ) reigned, rained
14)
Question ID :- (Question ID = 51498 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q9
Question Stimulus :-
Fill in the blank with the correct word from the options given below.
India is a member of the security
e (Option ID = 145854)
counsels
e (Option ID = 145855)
counselling
e (Option ID = 145856 )
council
e (Option ID = 145857)
counsel
Option ID :-0Correct Answer :-(Option ID = 145856 ) council
15)
Question ID :- (Question ID = 51503 )
Question Description :- HP12_ GENERAL ENGLISH_SET3Q14
Question Stimulus :-
Choose a word that can be replaced for the given sentence.
“The scientific study of the sun, the moon, the stars etc”
e (Option ID = 145874)
Astronomy
e (Option ID = 145875)
Palmistry
e (Option ID = 145876)

Anthropology



e (Option ID =145877)
Horoscope
Option ID :-0Correct Answer :-(Option ID = 145874 ) Astronomy
16)
Question ID :- (Question ID = 51490 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q1
Question Stimulus :-
Out of the given options which best expresses the meaning of the given proverb?
"Don't count your chickens before they hatch."
e (Option ID = 145822)
If you keep hens then there is no need to see how many chickens are hatched each day
e (Option ID = 145823)
Don't make plans based on predicted results that haven't occurred yet.
e (Option ID = 145824)
If we count the hatched chickens then their number decreases
e (Option ID = 145825)
Do not sell all the chickens that are hatched at a time

Option ID :-0Correct Answer :-(Option ID = 145823 ) Don't make plans based on predicted results that
haven't occurred yet.

17)

Question ID :- (Question ID = 51494 )

Question Description :- HP12 GENERAL ENGLISH_SET3Q5
Question Stimulus :-

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the
one which can be substituted for the given phrasal Verb.

The criminals got away after Killing three men.
e (Option ID =145838)
Escaped
e (Option ID =145839)
Arrested
e (Option ID =145840)

Killed



e (Option ID =145841)
Imprisoned

Option ID :-0Correct Answer :-(Option ID = 145838 ) Escaped

Topic:- General Hindi
1)

Question ID :- (Question ID = 51579 )

Question Description :- HP12 GENERAL HINDI_SET3QS5
Question Stimulus :-

T HH g DT I HIfoTC-

(Option ID = 146178 )

U

(Option ID = 146179 )

U

(Option ID = 146180 )

3ER

(Option ID = 146181 )

qd

Option ID :-0Correct Answer :-(Option ID = 146181 ) Yd

2)
Question ID :- (Question ID = 51583 )
Question Description :- HP12_GENERAL HINDI_SET3Q9
Question Stimulus :-
7 & T8 31 99 -
g g &1 3iftra weT Harg urev faw-wRT |
e, fsifa- ), i e T sa s I
e (Option ID = 146194 )
HE2ES]
e (Option ID = 146195)
dR™=

e (Option ID =146196)



RS
e (Option ID =146197)
DB Y
Option ID :-0Correct Answer :-(Option ID = 146197 ) ¢>UI IH
3)
Question ID :- (Question ID = 51576)
Question Description :- HP12_GENERAL HINDI_SET3Q2
Question Stimulus :-
fra wregl & & Ut ¥R e P AT R?
¢ (Option ID = 146166 )
994
e (Option ID = 146167 )
SETHTT
¢ (Option ID = 146168 )
g
e (Option ID =146169)
PR
Option ID :-0Correct Answer :-(Option ID = 146166 ) dU-
4)
Question ID :- (Question ID = 51577)
Question Description :- HP12 GENERAL HINDI SET3Q3

Question Stimulus :-
o fafa 6 aral & wuw 9 sifow fAfta 8, Aw ot 3Ra wu o wafRa Fifme-
01- &1 # WMfere

g- U &1a A g1 J¥pa HIuT A

Y- Tar ot uri it |

- AP Bt Foigd fHar g |

- YRd § 9t o & 7 9

06- TRER GHM HT AT & |



e (Option ID =146170)
g dd
e (Option ID =146171)
RYgdd
e (Option ID =146172)
Xddyg
e (Option ID =146173)
Xddyg
Option ID :-0Correct Answer :-(Option ID = 146171 )Y dd
S)
Question ID :- (Question ID = 51585 )
Question Description :- HP12_GENERAL HINDI_SET3Q11

Question Stimulus :-

IR & R[S YR BT T4 BIfore-

(Option ID = 146202 )

ST HEICY TSIl & 60 a8

(Option ID = 146203 )
& a1¢ ft it s a

(Option ID = 146204 )

3T RIgTT U T8 R gl ¢ |

(Option ID = 146205 )

PIE 3fe et

Option ID :-0Correct Answer :-(Option ID = 146202 ) 3SO&T HEIGY ATSITS! & 60 99

6)
Question ID :- (Question ID = 51582 )
Question Description :- HP12_GENERAL HINDI_SET3QS8

Question Stimulus :-

Prafefad area § sl gerat 31 qof i



e (Option ID = 146190 )
&1 a9 Frera fear
e (Option ID = 146191)
&1 ygTs a1 fear
e (Option ID = 146192)
&1 d18 g1 fear
e (Option ID = 146193)
&1 foret o feran
Option ID :-0Correct Answer :-(Option ID = 146192 ) T dIS d-T fean
7
Question ID :- (Question ID = 51575)
Question Description :- HP12_GENERAL HINDI_SET3Q1
Question Stimulus :-
9 & 919 91 SR 37
“STeTdT § I8 Sia-Ud

(Option ID = 146162 )

IUHT PR

(Option ID = 146163 )

FTUD AAPR

(Option ID = 146164 )

JHD AP

(Option ID = 146165 )

SWRITT | | BIg a1

Option ID :-0Correct Answer :-(Option ID = 146163 ) 3=Udh APR
8)

Question ID :- (Question ID = 51586 )

Question Description :- HP12 GENERAL HINDI _SET3Q12

Question Stimulus :-

3 TR BT IIT DIoTe-



(Option ID = 146206 )
# MU AT § WG §
(Option ID = 146207 )

IYP YTUT IERE 3§ T

(Option ID = 146208 )

98 WIS 9gd el 8

(Option ID = 146209 )
Y N B HeTdl AT

Option ID :-0Correct Answer :-(Option ID = 146209 ) §9 A¥ &1 HgT o) UT

9)
Question ID :- (Question ID = 51580 )
Question Description :- HP12_GENERAL HINDI_SET3Q6
Question Stimulus :-
‘T BT gFTgard qeg GHTI-
e (Option ID = 146182)
3ifés
e (Option ID = 146183)
e
e (Option ID = 146184 )
g
e (Option ID = 146185)
[£1d
Option ID :-0Correct Answer :-(Option ID = 146184 ) a9
10)
Question ID :- (Question ID = 51588 )
Question Description :- HP12_GENERAL HINDI_SET3Q14
Question Stimulus :-
G § TH 8-
¢ (Option ID = 146214)



aqey
« (Option ID = 146215)

FHYRY
e (Option ID = 146216)
%8
e (Option ID = 146217)
fe
Option ID :-0Correct Answer :-(Option ID = 146215 ) FUHYRY
11)
Question ID :- (Question ID = 51587 )
Question Description :- HP12_GENERAL HINDI_SET3Q13

Question Stimulus :-
SaTay H | 8-
e (Option ID =146210)

TUT TR
¢ (Option ID = 146211)
gfa @R
e (Option ID = 146212)
W
e (Option ID = 146213 )
YUl ¥dX
Option ID :-0Correct Answer :-(Option ID = 146213 ) 9U[ TdX
12)
Question ID :- (Question ID = 51591 )
Question Description :- HP12 GENERAL HINDI SET3Q17

Question Stimulus :-

g A 98 ad=t &1 9= Fifore-

« (Option ID = 146226 )

THEH



e (Option ID = 146227)
U
e (Option ID = 146228)
LLGEIE
e (Option ID = 146229)
LRI
Option ID :-0Correct Answer :-(Option ID = 146227 ) U
13)
Question ID :- (Question ID = 51589 )
Question Description :- HP12_GENERAL HINDI_SET3Q15

Question Stimulus :-

3MEHt P TP & BTH UR YT AT, YT URYH Higd BT 1T | wdian ¢ 8, iR g7 @
wfaa R ) fibes & @), ARt N Fd A S iR P Re F FH GN AT & | W Rg A
it ot w1 | il 7 el | ugd v & o, e g, fR AR s g aa s @
B WH | TE Y 9 3HeR 7§ S |

« (Option ID = 146218)
WS GeRfe Fedwia urg
« (Option ID = 146219)
TS I8 99 98 99 918 99 91
« (Option ID = 146220)
3 7wt fre =i e = e
« (Option ID = 146221)
IWRIad | § BIs gl
Option ID :-0Correct Answer :-(Option ID = 146219 ) T 19 U I I HI1Y I W1
14)
Question ID :- (Question ID = 51578)
Question Description :- HP12_GENERAL HINDI_SET3Q4

Question Stimulus :-
g dfeaal & e &1 9= Bifore-

« fen-eM Iew f9A1, %8 9 urd @14 |
a1 game =1 fret, 4t v &t 9= 07



(Option ID = 146174 )

|

(Option ID = 146175 )

EILIE

(Option ID = 146176 )

qRST

(Option ID = 146177)
e

Option ID :-0Correct Answer :-(Option ID = 146174 ) Eﬂ?T

15)
Question ID :- (Question ID = 51584 )
Question Description :- HP12_GENERAL HINDI_SET3Q10
Question Stimulus :-
e (Option ID =146198)
fory area
e (Option ID =146199)
Y AT
e (Option ID =146200)
HIYRT dTR]
e (Option ID = 146201)
T AP TG
Option ID :-0Correct Answer :-(Option ID = 146200 ) HTYIRUT TR
16)
Question ID :- (Question ID = 51581 )
Question Description :- HP12_GENERAL HINDI_SET3Q7
Question Stimulus :-
]fwmr # yod ygae-

« (Option ID = 146186 )



SHT

« (Option ID = 146187 )
HT

« (Option ID = 146188 )

e (Option ID = 146189 )

fomm

Option ID :-0Correct Answer :-(Option ID = 146186 ) SHI
17)
Question ID :- (Question ID =51590)
Question Description :- HP12_GENERAL HINDI_SET3Q16
Question Stimulus :-
T T & qUI BT AR VI §:
e (Option ID = 146222)
drdsq
e (Option ID =146223)
&g
e (Option ID = 146224)
3irsay
e (Option ID = 146225)
ATfpT
Option ID :-0Correct Answer :-(Option ID = 146224 ) 33

Topic:- General Maths
1)

Question ID :- (Question ID =51755)
Question Description :- HP12_GENERAL MATHS_SET3Q11
Question Stimulus :-

Two pipes can fill a cistern in 3 hours and 3 hours 45 minutes respectively and a third pipe can empty the
whole cistern in an hour. The cistern is half filled with water and all the three pipes are opened together. The
time after which the cistern will be emptied, is:/Gl UTSU TP P! HI HUI: 3 € 3R 3 G 45 e A R AP &
3R F T UTS U ) bl ) U b W el B ahar ¢ | St anreft wdt g3 B S il urgu v Wy g wR RRe e |
95 9HY ford <ot @elt g sIma, @:



(Option ID = 146882 )

45 minutes/45 fi=e

(Option ID = 146883 )

1 hour 15 minutes/1 °eT 15 fiFe

(Option ID = 146884 )

1 hour 30 minutes/1 ¥eT 30 e

(Option ID = 146885 )

1 hour 45 minutes/1 ¥eT 45 e

Option ID :-0Correct Answer :-(Option ID = 146883 ) 1 hour 15 minutes/1 Her 15 fiFe
2)

Question ID :- (Question ID = 51751 )

Question Description :- HP12_GENERAL MATHS_SET3Q7

Question Stimulus :-

The difference of compound interest and simple interest on a sum at the rate of 6% for two years is 336, then

what will be the sum?/afe Th <-RIRTUR 6% AT F o= & af F Tergfes SuTe 3R ATURYT 1o | 3R 236 §, A1 I8
LRI fpat gRft?

e (Option ID = 146866 )
10,000
e (Option ID = 146867 )
12,000
e (Option ID = 146868 )
¥15,000
e (Option ID = 146869 )
%9,000
Option ID :-0Correct Answer :-(Option ID = 146866 ) ¥10,000
3)
Question ID :- (Question ID = 51757)
Question Description :- HP12_GENERAL MATHS_SET3Q13
Question Stimulus :-

A train, 110 meter long, is running at a speed of 60 kmph. How many seconds does it take to
cross another train, 170 meter long, standing on parallel track?/110 . dat 37[ 60 fepHiree



D fd T I ¥E1 81 S JHIR UY TR Gl 170 Hl. Gat g ¢ Bl UR B | [ha-d AHUs &1
g T2

e (Option ID = 146890 )
15.6
e (Option ID = 146891 )
16.8
e (Option ID = 146892 )
17.2
e (Option ID = 146893 )
18
Option ID :-0Correct Answer :-(Option ID = 146891 ) 16.8
4)
Question ID :- (Question ID = 51756 )
Question Description :- HP12 GENERAL MATHS SET3Q12
Question Stimulus :-

Two persons A and B started from two different places towards each other. If the ratio of
their speeds be 3: 5, then what is the ratio of distance covered by A and B respectively till

the point of meeting?lﬁTﬂ%AGﬁ'\’Bﬁﬁ?ﬂlﬁﬁwwaﬁmmmmﬁl
gfe IAP! Tfadl BT 3JUTd 3: 57, @ A T B §RT HHTT: fATA & VI aF UgaA & a9 &1 T8 g4
BT IUTd T GRI?

e (Option ID = 146886 )
1:2
e (Option ID = 146887 )
3:4
e (Option ID = 146888 )
3:5
e (Option ID = 146889 )
5:3
Option ID :-0Correct Answer :-(Option ID = 146888 ) 3:5
S)
Question ID :- (Question ID = 51753 )
Question Description :- HP12_GENERAL MATHS_SET3Q9

Question Stimulus :-



The harmonic mean of 2, 3,4 and 5 is:/ 2,3, 4 3R 5 DI IIHD HIH EﬁTIT-
« (Option ID = 146874 )

308
61

« (Option ID = 146875 )

248
77

e (Option ID = 146876)

240
77

e (Option ID = 146877)

309
61

240
Option ID :-0Correct Answer :-(Option ID = 146876 ) 77

6)

Question ID :- (Question ID = 51759 )

Question Description :- HP12 GENERAL MATHS SET3Q15
Question Stimulus :-

In how many ways five chocolates can be chosen from an unlimited number of Cadbury,

Five-star, and Perk chocolates?/ a)_silﬂ, WIgd ¥R, 3R U& didec o1 Aifa g d 3
foram atel A 5 Aidaie] HI gAT o Gbdl 82

e (Option ID = 146898 )
81
« (Option ID = 146899 )
243
e (Option ID = 146900 )
21
e (Option ID = 146901 )
31
Option ID :-0Correct Answer :-(Option ID = 146899 ) 243
7

Question ID :- (Question ID = 51746 )



Question Description :- HP12 GENERAL MATHS SET3Q2
Question Stimulus :-

What should come in place of the question mark (?) in the following questions? | FFrafafea uy &
UHATAP I8 (?) & I W HT T2

242 _ 132 +?2_?
19 o

e (Option ID = 146846 )
18
e (Option ID = 146847)
24
e (Option ID = 146848 )
22
e (Option ID = 146849 )
21
Option ID :-0Correct Answer :-(Option ID = 146847 ) 24
8)
Question ID :- (Question ID = 51750 )
Question Description :- HP12_ GENERAL MATHS_SET3Q6
Question Stimulus :-

The percent profit made when an article is sold for ¥56 is thrice as when it is sold for ¥42.
The cost price of the article is:/Ud d¥q D1 256 § daH WX gl Afa=Ta @Y, T42 ¥ 994 W g
T UFA=Td ATH BT A AT 8 | a5 DT 99 I 8

« (Option ID = 146862 )
728

« (Option ID = 146863 )
249

« (Option ID = 146864 )
725

« (Option ID = 146865 )
235

Option ID :-0Correct Answer :-(Option ID = 146865 ) ¥35

9)



Question ID :- (Question ID =51754)
Question Description :- HP12_GENERAL MATHS_SET3Q10
Question Stimulus :-

If 6 girls can embroider a dress in 9 days, then the number of days taken by 3 girls for the
same work will be: /Afe 6 TSfHUT TP TP B! HeTe 9 e & B Tbd ¢ ol 3 asfPal S gRI
UM ST B3 | o T o1 ot w@ gii:

e (Option ID =146878)
14
e (Option ID = 146879 )
18
e (Option ID = 146880 )
20
e (Option ID = 146881 )
15
Option ID :-0Correct Answer :-(Option ID = 146879 ) 18
10)
Question ID :- (Question ID = 51748 )
Question Description :- HP12_ GENERAL MATHS_SET3Q4
Question Stimulus :-
Find out the wrong term in the given series: | & §'5: goft # Trera Uq 3Td Gy
2,6, 16, 38, 84, 176, 368

(Option ID = 146854 )
6
e (Option ID = 146855)
16
e (Option ID = 146856 )
38
e (Option ID = 146857)
176
Option ID :-0Correct Answer :-(Option ID = 146857 ) 176

11)



Question ID :- (Question ID =51752)
Question Description :- HP12_GENERAL MATHS_SET3Q8
Question Stimulus :-

5783 is divided among Sherry, Berry and Cherry in such a way that if ¥28, I37 and X18 be deducted from
their respective shares, they have money in the ratio 4 : 6 : 9. Sherry’s share is: /Eaﬁ, I i At F A 5783
39 TR fauTira f6a i 3 1 afe 377as faval o @ svar: 228, 337 3R 218 Uer) 9 ) ST R &7 3rquTa 4
6 : 9 B ST | T} T g &
e (Option ID =146870)
¥1256
e (Option ID = 146871)
T1228
e (Option ID = 146872)
¥1450
e (Option ID =146873)
¥1084
Option ID :-0Correct Answer :-(Option ID = 146871 ) ¥1228
12)
Question ID :- (Question ID = 51749 )
Question Description :- HP12_GENERAL MATHS_SET3QS5

Question Stimulus :-

1
A man’s age is 125% of what it was 10 years ago, but 833% of what it will be after 10 years.

His present age is: /Waﬂ%ﬁmmnﬁmaﬁmaﬂ 125% @, firg IS g0
aﬁmﬁarrgﬁssi%%,a‘rwaﬁaﬁcrmerrg%:
« (Option ID = 146858 )
48
e (Option ID = 146859 )
49
« (Option ID = 146860 )
51
« (Option ID = 146861 )
50

Option ID :-0Correct Answer :-(Option ID = 146861 ) 50



13)
Question ID :- (Question ID = 51747)
Question Description :- HP12_GENERAL MATHS_SET3Q3

Question Stimulus :-

What will come in place of Question mark (?) in the following number series? | fFrafafea
TST YUITel! § UHares e (?) & TITH U= T STAM?

13, 41, 85, 145, (?)
e (Option ID = 146850 )
484
e (Option ID = 146851 )
474
e (Option ID = 146852 )
221
e (Option ID =146853)
281
Option ID :-0Correct Answer :-(Option ID = 146852 ) 221
14)
Question ID :- (Question ID = 51761 )
Question Description :- HP12_GENERAL MATHS_SET3Q17
Question Stimulus :-

The ratio between the length and breadth of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of 12 kmph completes one round in 8 minutes,

then the area of the park (in sq.metre) is:/wmmﬁmﬁ&ﬁ?ﬁaﬁa?mm :
2 BT 3UTd ¢ | afe U afad Ie &1 JT R 12 feit ufa g &) wfa S rsfora o< 8
e ® e gaw) T HR AT 8, 9 SUH BT AABa@Et Hex #)3:

e (Option ID = 146906 )
15360

e (Option ID = 146907 )
153600

e (Option ID = 146908 )
30720

e (Option ID = 146909 )
307200



Option ID :-0Correct Answer :-(Option ID = 146907 ) 153600
15)

Question ID :- (Question ID =51745)

Question Description :- HP12_ GENERAL MATHS_SET3Q1

Question Stimulus :-

0.342 x 0.684 0.342 x 0.684
The square root of 0.000342 x 0.000171 jg§7? / 0.000342 x 0.000171 ] a‘rﬁlﬁ %;

(Option ID = 146842 )

250

(Option ID = 146843 )

2500

(Option ID = 146844 )

2000

(Option ID = 146845 )

4000

Option ID :-0Correct Answer :~(Option ID = 146844 ) 2000
16)

Question ID :- (Question ID = 51760 )

Question Description :- HP12 GENERAL MATHS SET3Q16
Question Stimulus :-

HCF a%d LCM of aZb3¢? and ab*c3 respectively are :/ a2b3c? 3R a5b4c3 F H. T, 3R 4. 9.
R B:

e (Option ID =146902)
aZbh3c?, aSphied

e (Option ID =146903)
aZb3¢3, a2b3c?t

e (Option ID = 146904 )
aZb3¢3, aShdc?d

e (Option ID =146905)

asb3c3, adbde3



Option ID :-0Correct Answer :-(Option ID = 146904 ) aZb3¢3, aSpct
17)

Question ID :- (Question ID = 51758 )

Question Description :- HP12_ GENERAL MATHS_SET3Q14
Question Stimulus :-

If the average weight of 6 students is 50 kg, average weight of another 2 students is 57 kg,
and average weight of another 2 students is 55 kg, then the average weight of all students

is: 1 gfe 6 faenfday &1 siwd YR 50 frun 8, 2 3= faenfiay @1 sitad YR 57 fPur 8 siiv 2 3=
faenfday &1 siad YR 55 fa & | ot 9+t faenfdat &1 sid UR &:

« (Option ID = 146894 )
61 kg/61 3
« (Option ID = 146895 )
51.5 kg/51.5 far
« (Option ID = 146896 )
52.4 kg/52.4 fur
« (Option ID = 146897 )
51.2 kg/51.2 far
Option ID :-0Correct Answer :-(Option ID = 146896 ) 52.4 kg/52.4 foum

Topic:- General Computer

1))
Question ID :- (Question ID = 51829 )
Question Description :- HP12 COMPUTER _SET3Q4

Question Stimulus :-

How long is an IPv6 address?/ IPv6 &I E%'H gha1 8-

(Option ID = 147178 )

32 bits/32 faca @1

(Option ID = 147179 )

64 bits/64 faaT &1

(Option ID = 147180 )

16 bits/16 faeT &1

(Option ID = 147181 )



128 bits/128 faeq &1
Option ID :-0Correct Answer :-(Option ID = 147181 ) 128 bits/128 ﬁ'(.{'\q G|
2)
Question ID :- (Question ID = 51839)
Question Description :- HP12_ COMPUTER_SET3Q14
Question Stimulus :-
In internet DNS is:/ ¢3¢ # DMS g:
e (Option ID = 147218)
Data Network System / SICT Aead e
e (Option ID = 147219)
Different Name System/ fewie 99 R
e (Option ID = 147220)
Direct Network Systeml?il'&'ﬁﬂ%’ Aeas e
e (Option ID = 147221)
Domain Name system / SHF A9 R
Option ID :-0Correct Answer :-(Option ID = 147221 ) Domain Name system | 19 A¥ Rew
3)
Question ID :- (Question ID = 51826 )
Question Description :- HP12 COMPUTER _SET3Q1

Question Stimulus :-

USB is:/qude! &:

(Option ID = 147166 )

Universal sequent Bus/ qﬁﬂﬁﬁ ﬁmqq-c' 99

e (Option ID = 147167)

Universal sequential Bus/ qﬁaﬁa ﬁﬁgﬂ?ﬁﬂ?{ 99
e (Option ID =147168)

Universal successive Bus/ qﬁa'd?r TRIRa 99
e (Option ID = 147169 )

Universal serial Bus/ gf-aad Hikad a9



Option ID :-0Correct Answer :-(Option ID = 147169 ) Universal serial Bus/ qﬁa'd?r Hifvaa a9
4)

Question ID :- (Question ID = 51837 )

Question Description :- HP12_ COMPUTER_SET3Q12

Question Stimulus :-

CANCELLED

How will you display the favorites menu using shortcut key in MS Word?/GH T4 CER: R

H B BT IUUNT X F have Wi FA uelRia #37
e (Option ID =147210)
Alt+0O
e (Option ID = 147211)
Alt+F
e (Option ID = 147212)
Ctrl+ O
e (Option ID =147213)
Ctri+F
Option ID :-0Correct Answer :-(Option ID = 147210 ) Alt + O
)
Question ID :- (Question ID = 51827)
Question Description :- HP12_ COMPUTER_SET3Q2
Question Stimulus :-
Thrashing-/ ARGT-
e (Option ID =147170)

is a natural consequence of virtual memory systems/ Ud aﬁam AR Ry &1
w@ryTfa® ufvona g

e (Option ID =147171)
can always be avoided by swapping/ P W H aIRT E'BI'Q'IT NPT ST Ghdl %
e (Option ID =147172)

always occurs on large computers/ Eﬁ'SIIT El@.' W R T-Iﬁ‘f G| %

e (Option ID =147173)



can be caused by poor paging algorithms/ WRTd UfSHT SreMfYuT & gRT S 81 gl

g

Option ID :-0Correct Answer :-(Option ID = 147173 ) can be caused by poor paging algorithms/

RS URAT SMeRT F FRT S g FHedt 3

6)

Question ID :- (Question ID = 51833 )

Question Description :- HP12_ COMPUTER_SET3QS8

Question Stimulus :-

What is the full form of ASCII:/ ASCIl T YRT ATH %:
« (Option ID = 147194 )

American Standard Code for Inked Information/ 3MR® RUSS HIs BIR IS

SABTHRA

« (Option ID = 147195
American Standard Code for Information Inked/ 3RS WUSE HIS BIR FABTHIT
EL

e (Option ID = 147196 )

American Standard Code for Information Interchange/ MARPT RUSS BIs BIR

SAPTHRM Sevds

e (Option ID =147197)

Asian Standard Code for Information Interchange/ Q‘fQ'I'CF-r WUSS HIs BR s-—mfmm

Option ID :-0Correct Answer -(Optlon ID = 147196 ) American Standard Code for Information

Interchange/ 3MRPT RUSE BIS BIR STBMHRM Seael
7
Question ID :- (Question ID = 51840 )
Question Description :- HP12_ COMPUTER_SET3Q15
Question Stimulus :-
LCD is:/ Efﬂﬂ?ﬂ %:
e (Option ID = 147222)
Liquified Crystal Displaylﬁ’l‘f%m forea fe
e (Option ID = 147223)
Liquid Cryptotis Displayl‘f%‘l’[%\‘,r Ppaucifey fewa

« (Option ID = 147224 )



Liquid Crystal Displayﬂ%l‘ﬁﬁ»’ forwea fewa
e (Option ID = 147225)
Liquid Crypto Displaymwm
Option ID :-0Correct Answer :-(Option ID = 147224 ) Liquid Crystal Display/foif@s foheea fava
8)
Question ID :- (Question ID = 51838)
Question Description :- HP12_ COMPUTER_SET3Q13

Question Stimulus :-

Which o%ne of the following is not the feature of internet?/ a9 3 s Eﬁ? 31 faviy
T[0T g1 82

e (Option ID =147214)
News group/=gsl JU
« (Option ID = 147215)
Designingf%ﬁ'l?gﬁ'ﬂ
e (Option ID = 147216)
E-mail’3-0d
e (Option ID = 147217 )
ChatrIe
Option ID :-0Correct Answer :-(Option ID = 147215 ) Designing/fSSITS =T
9)
Question ID :- (Question ID = 51832 )
Question Description :- HP12 COMPUTER _SET3Q7
Question Stimulus :-
Which is not a font style?/ 9 & ¥ ®19 Ts i< wIgd 81 87
e (Option ID = 147190 )
Bold/ §itS
e (Option ID = 147191)

Superscript/ Jur %)'E
« (Option ID = 147192)



Italic/ Sefered

e (Option ID = 147193 )

Regular/i'ﬂ?l?

Option ID :-0Correct Answer :-(Option ID = 147191 ) Superscript/ JuX fopy
10)
Question ID :- (Question ID = 51834 )
Question Description :- HP12_COMPUTER_SET3Q9
Question Stimulus :-
Bug means-/ 91 T areud -
e (Option ID =147198)
Logical error in a program/ IR Udh GHEZ T 'g’ﬁ'
e (Option ID =147199)
Difficult syntax error in a program/ oy o Udh e T HH 'a’ﬁ
e (Option ID =147200)
Documenting programs using an efficient documentation tool/ wa&msﬁ'ﬂqﬂ%ﬁﬁm
) STREATRT ST & SuET H araT
e (Option ID = 147201 )

All of the above/ SURTad Tt

Option ID :-0Correct Answer :-(Option ID = 147198 ) Logical error in a program/ o | TP

difehe Ffe

11)

Question ID :- (Question ID = 51828)

Question Description :- HP12_ COMPUTER_SET3Q3
Question Stimulus :-

Which one of the following medium is portable and inexpensive but has its own limitations

in term of storage capacity and speed? | g & | ST ATeIH Ndad SR [T % afere
WIS 3R Tfts & Ty | @ Ut Fir g2

e (Option ID =147174)
Hard disk/gTs f&%p
« (Option ID = 147175

Compact disk/prige &

https://lwww.freshersnow.com/previous-year-question-papers/



e (Option ID =147176)
Optical disk/3ITTPHd fSTh
e (Option ID =147177)
Floppy disk/Faul f$ws
Option ID :-0Correct Answer :-(Option ID = 147177 ) Floppy disk/Fardl fewm
12)
Question ID :- (Question ID = 51831 )
Question Description :- HP12_ COMPUTER_SET3Q6
Question Stimulus :-

If a computer provides database services to other, then it will be known as:/ Tlﬁ Udh W
foreft 3ra Huger oI STETEY |aTd UG $dT § a9 98 Hedrdl &

e (Option ID =147186)
Web server/ 49 JdR
e (Option ID =147187)
Application server/ wﬁ%m:r v
e (Option ID =147188)
Database server/ STeT 99 Jd
e (Option ID =147189)
FTP server/UWp AR IR
Option ID :-0Correct Answer :-(Option ID = 147188 ) Database server/ SIcl a9 IR
13)
Question ID :- (Question ID = 51835 )
Question Description :- HP12 COMPUTER_SET3Q10
Question Stimulus :-

The algorithm in which we allocate memory to each process according to its size is known

as:/ F79 o fra Sramfyyd & Wik &) SUS! A1 & AR AT STdfed 3 Tt 8-
« (Option ID = 147202 )
Proportional allocation algorithmflil'cﬁw AP AAENYH
« (Option ID = 147203 )

Equal allocation algorithm/S&d SATDBR AATRYA



« (Option ID = 147204)
Split allocation algorithm/ f&&e ATH SANRYH
e (Option ID = 147205)

None of the above/ IURIad H | H’ﬁ'&‘ el

Option ID :-0Correct Answer :-(Option ID = 147202 ) Proportional allocation algorithmflil'lﬂw

SATHTA ARNNYA

14)
Question ID :- (Question ID = 51830)
Question Description :- HP12_ COMPUTER_SET3Q5

Question Stimulus :-

Verificati%on of a login name and password is known as: AR 9T 3R YIS &1 Ty
hedldl &-

(Option ID = 147182 )

Configuration/ BTRpIRTT

(Option ID = 147183 )

Accessibility/ Eﬂ@ﬁlﬁﬁi&

(Option ID = 147184 )

Authentication/ 3iidfep =

(Option ID = 147185 )

Logging in/ ARAT <

Option ID :-0Correct Answer :-(Option ID = 147184 ) Authentication/ Sfdfede
15)

Question ID :- (Question ID = 51836 )

Question Description :- HP12_ COMPUTER_SET3Q11

Question Stimulus :-

What is meaning of FORTRAN?/W®IC - HgdTdl 8-

e (Option ID = 147206 )

Formula trainfCI"TI'li?lT aT-I

e (Option ID = 147207 )

Formula translation/®TH@T ¢iAR



e (Option ID = 147208 )
Formula train networkleI'li?lT 2‘*' Acad

« (Option ID = 147209 )

Formula translation network/TH@T SHARM Aedd
Option ID :-0Correct Answer :-(Option ID = 147207 ) Formula translation/tb_l'l%ﬂ mﬁm

Topic:- General Aptitude
1))

Question ID :- (Question ID = 51935)

Question Description :- HP12_ GENERAL APTITUDE_SET4Q14

Question Stimulus :-

Rohan is 7t to the left of Akshay in a row of boys. Vijay, who is 20 from the left end of the
row is 7t to the right of Akshay. If Geet who is 3" to the right of Rohan is 20" from the right
end of the row, how many boys are there in the row?/ Flsﬂﬁ @t Udh tfe ﬁ, ﬂﬁ, Sl&g * 114
 ITad VM R 1 o, ot ufdq & 9 oR 9 §9d ®IM IR §, 98 3™ & g1¢ | J1dad R
W g1 afe Ma, ot T & g1 | TRk ®IM WR 7, 98 Ufed & 31 oR 9 fd /M W g,
ifed & o frad e d &7

e (Option ID = 147602 )

26

e (Option ID = 147603 )
30

e (Option ID = 147604 )
28

e (Option ID =147605)

Cannot be determined/3ITd T-Iﬁ%CIT ST b dl
Option ID :-0Correct Answer :-(Option ID = 147604 ) 28
2)

Question ID :- (Question ID = 51933 )
Question Description :- HP12_GENERAL APTITUDE_SET4Q12
Question Stimulus :-

At what time between 8’0 clock and 9’ O clock will the hand of the clock be together?/ 8 ol
¥ 9 gl & U US! Bl Y4l (g GHg TH 1Y I

e (Option ID =147594)



7 7

421! minutes past 8/8 doihY 421 e w®

e (Option ID =147595)

7 7

43! minutes past 8/8 TP 4311 fiFC W

« (Option ID = 147596 )

7 7

40! minutes past 8/8 TSP 40! e W)

« (Option ID = 147597 )

7 7

411! minutes past 8/8 TSI 4111 AT W)

7 7

Option ID :-0Correct Answer :-(Option ID = 147595) 43! minutes past 8/8 do{hY B fFe R
3)

Question ID :- (Question ID =51928)

Question Description :- HP12_ GENERAL APTITUDE_SET4Q7

Question Stimulus :-

DIRECTIONS: In each of the following questions, choose the set of numbers out of the four

options that is similar to the given set. f&l%f-‘!T: WWWWﬁWﬁWﬁ'@W
RT3 & TG BT 999 B« ol fAT ¢ IYg & GHH &1 |

(12,5, 7)
e (Option ID = 147574 )
(7,3, 4)
e (Option ID = 147575)
(18,12, 16)
e (Option ID = 147576 )
(29, 18, 22)
e (Option ID = 147577)
(25, 12, 16)
Option ID :-0Correct Answer :-(Option ID = 147574 ) (7, 3, 4)
4)
Question ID :- (Question ID = 51927 )
Question Description :- HP12_GENERAL APTITUDE_SET4Q6

Question Stimulus :-



In a certain code 'BROADEN' is written as 'NQABOFE'. How is 'DESKTOP' written in that
code? /fadt fAf¥a e W 'BROADEN' ®t 'NQABOFE' ferat wirar 81 3%t e # 'DESKTOP' &Y
&g yor for@m?

e (Option ID = 147570 )
RDCLQPU
e (Option ID = 147571)
TFELQPU
e (Option ID = 147572)
RDCJQPU
e (Option ID =147573)
EFTLONS
Option ID :-0Correct Answer :-(Option ID = 147570 ) RDCLQPU
S)
Question ID :- (Question ID =51925)
Question Description :- HP12_GENERAL APTITUDE_SET4Q4
Question Stimulus :-

DIRECTIONS: These questions are based on continuous alphabet type, a letter series is

given which has some blanks, find the alternatives that complete the series.fﬁ%ﬂ A=
:rgnavﬁﬁ, PO 3HeR W g o - o e fdt vep fareu & w7 | 93 ey &1 999
|

ba-b-a--ba-b
e (Option ID = 147562 )
ababa
e (Option ID = 147563 )
baabb
e (Option ID = 147564 )
abaab
e (Option ID = 147565)
bbaab
Option ID :-0Correct Answer :-(Option ID = 147562 ) ababa
6)
Question ID :- (Question ID = 51926 )

Question Description :- HP12 GENERAL APTITUDE_SET4QS5



Question Stimulus :-

How many circles are there in the following figure?/ & 1T§ awﬁr H fooam qd g7

e (Option ID = 147566 )
12
e (Option ID = 147567 )
13
e (Option ID = 147568 )
14
e (Option ID = 147569 )
1"
Option ID :-0Correct Answer :-(Option ID = 147567 ) 13
7)
Question ID :- (Question ID = 51929 )
Question Description :- HP12_GENERAL APTITUDE_SET4QS8
Question Stimulus :-

A woman said to a man, “The daughter of your only sister is the sister of my husband’.
What is the relation of man’s sister to the woman?/U® HfgdT A Th JSW & Hal “3Tud]
sHaldl g8 o1 9t W ufd Y 989 87 | [IW B I8 &1 Afan & Y 1 Y 32

(Option ID = 147578 )

Mother/ AT
e (Option ID =147579)
Mother-in-law/dTd
e (Option ID = 147580 )
Data inadequate/éﬁﬂ'@' gt
e (Option ID = 147581 )

None of thesel%‘lﬁ I Tﬁg -'-Iﬁ

Option ID :-0Correct Answer :-(Option ID = 147579 ) Mother-in-law/dTd



8)

Question ID :- (Question ID = 51937 )

Question Description :- HP12_GENERAL APTITUDE_SET4Q16

Question Stimulus :-

DIRECTIONS: In the question, relationship between different elements is shown in the Statements.
These Statements are followed by two Conclusions. Read the conclusions based on the statements
carefully and choose the certain answer from the given options.fﬁ%‘\’r: ﬁﬁqwua H, HYI | 23]

3qYdl & drg & G ST T @ | HYHT P 16 frepd feu MU @ | Y1 wR e frewul &1
ATIYAP ufet 3R fod T & | ver fAifya 3w &1 s sifv |

Statements:/[PY:
O>P>Q,R>S>T,R>Q
Conclusions:/frsh:
I. S>Q
II. T>P
« (Option ID = 147610 )
If only Conclusion | foIIowstIﬁ Had ey | ST BT %
« (Option ID = 147611 )
If only Conclusion Il foIIowstIﬁ' FHad ey 11 SITIRUT HIdT %
e (Option ID = 147612)
If neither Conclusion I nor Il foIIowsRT% FdfAsed 1T ST BT %
e (Option ID = 147613 )

If both Conclusions | and Il followrafe g frsept SRR Hvd &

Option ID :-0Correct Answer :-(Option ID = 147612 ) If neither Conclusion | nor I foIIowsI'CI'% _q
ot frspdf | 9 11 SRV FRAT B

9)

Question ID :- (Question ID =51922)

Question Description :- HP12_GENERAL APTITUDE_SET4Q1
Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./fAIST: ﬁ%ﬁqwmﬁw¢maﬁ?mmwwm
M § | MU AT e i1 SU= ) I 91941 & HA 1 3 Id3d a9 = udia gla 8b |
Tt frewut o1 ufew b au Fifore % e e fFrepul A ¥ 19 J1 THETd 3U A SIHR0T HRdl
2, 9T gayd a $° W El |



Statements:/®Y:

Some chairs are desks./[PS yﬁhﬂ, ST |

All rooms are desks.[AH} ?ﬁ'lﬂ', @Tiﬁ% |

All windows are rooms./dHt @EW, ib_lﬁ% |
Conclusions:/fTsh:

I. All windows are desks./ A4} @Gﬁﬂﬁ, P % |
Il. Some desks are rooms./[$® @W, Hﬂﬁ% |

« (Option ID = 147550 )
If only Conclusion | follows/afe &aa s | ST HRdT ?
e (Option ID = 147551)
If only Conclusion Il follows/af¢ Fad s Il ST HRdT ?
e (Option ID = 147552)
If neither Conclusion I nor Il follows/afe = fasad 1711 GE[\‘ITUTWT%
« (Option ID = 147553 )

If both Conclusions | and Il follow/afe 1 fepy TR HXd &

Option ID :-0Correct Answer :-(Option ID = 147553 ) If both Conclusions | and Il follow/af¢ giFl

frepd argaRur Hd §

10)

Question ID :- (Question ID = 51936 )

Question Description :- HP12_GENERAL APTITUDE_SET4Q15
Question Stimulus :-

A cube of edge 8 cm is painted blue from all its faces. It is cut into small cubes of surface
area 24 cm?2. How many such cubes shall have two faces painted?/Ud 8 I+ Hell & g9 B

A el T F T | R g9 24 A2 gty faea & aiftrean B¢ uHl H Hrer w1 Bl
o= 8 | fbam w1 was &l
« (Option ID = 147606 )
96
e (Option ID = 147607 )
24
« (Option ID = 147608 )
48



e (Option ID = 147609 )
12
Option ID :-0Correct Answer :-(Option ID = 147607 ) 24
11)
Question ID :- (Question ID = 51930 )
Question Description :- HP12_ GENERAL APTITUDE_SET4Q9

Question Stimulus :-

DIRECTIONS: Arrange the following words according to the English chtlonaryfﬁlch&'[ 3Tt
YGHI & AR, = 2] Dt sqafyd o

(A) gargle (B) garden (C) garbo (D) garnish (E) garland
e (Option ID = 147582 )
(B), (C), (D), (A), (E)
« (Option ID = 147583 )
(C), (B), (A), (E), (D)
e (Option ID = 147584 )
(C), (B), (D), (E), (A)
« (Option ID = 147585 )
(D), (C), (B), (A), (E)
Option ID :-0Correct Answer :~(Option ID = 147583 ) (C), (B), (A), (E), (D)
12)
Question ID :- (Question ID = 51924 )
Question Description :- HP12._ GENERAL APTITUDE_SET4Q3

Question Stimulus :-

What will come in place of question (?) mark in the following series?/f= 9oft # UzaTE®
e (?) & RIF W o1 3Mum?

DHL, PTX, BFJ, (?)
e (Option ID = 147558 )
CGK
e (Option ID =147559)
KOS

« (Option ID = 147560 )



NRV
e (Option ID = 147561)

RVZ
Option ID :-0Correct Answer :-(Option ID = 147560 ) NRV
13)
Question ID :- (Question ID = 51931 )
Question Description :- HP12_ GENERAL APTITUDE_SET4Q10
Question Stimulus :-

Rana travels 10 km North, turns left and then travels 4 km and then turns right and covers
another 5 km, he then turns to right-hand side and travels another 4 km. How far is he from

the point of starting of his journey?RTUTT 10 fH} IR & SR ITAT HT 7, TX FSaT 7 IR
% 4 foreft 3t g Fear B SR Y 3¢ goa1 B ok 5 fH 91 g au Fwar 7, 39D 91¢ 78
e BTy F TRE g7 8 3R 4 frwft 't amn Fa1 & 1 3= I & RIS W= | a8 fFa-t

W E?
e (Option ID = 147586 )
5 km
e (Option ID = 147587 )
4 km
e (Option ID = 147588 )
15 km
e (Option ID = 147589 )
10 km
Option ID :-0Correct Answer :-(Option ID = 147588 ) 15 km
14)
Question ID :- (Question ID = 51938 )
Question Description :- HP12_GENERAL APTITUDE_SET4Q17
Question Stimulus :-

At a certain film festival, eight films will be shown J, K, L, M, N, P, Q, and R. The order of the
showings must meet the following conditions/fedt ﬁﬁ?m A 3re fbed JK,L,M,N, P,
Q 9T R fe@rs i | fpen fd@m &1 %4 A 8-

N is shown immediately before L/ N, L %W‘ﬁamﬂg
J is shown third/ J TR RIF R fe@Ts 718
Q is shown fifth/ Q UTId ®IF W fa@rg 18



If N is shown immediately after P, then P could be shown?/3TIR N, P %ﬂ?ﬂmmﬁ?ﬁ
P &M I RIF W few@rs 52

« (Option ID = 147614 )
Third/dRIR

« (Option ID = 147615 )
Fourth/=iNY

« (Option ID = 147616 )
Fifth/aied

« (Option ID = 147617 )

Sixth/@d4d

Option ID :-0Correct Answer :-(Option ID = 147617 ) Sixth/&&d
15)

Question ID :- (Question ID = 51932 )

Question Description :- HP12_ GENERAL APTITUDE_SET4Q11
Question Stimulus :-

One morning after sunrise, Reeta and Kavita were talking to each other face to face at Tilak
Square. If Kavita’s shadow was exactly to the right of Reeta, which direction Kavita was

facing?/U® Jag GUIed & UyTd, a1 MR Hidar faaes TR1e IR TP gaX 3t iR §& FP
3o H 919 3 T A | afe Hfaar & wors Har & St arg ik I9d1 8, @ wfaar fry fa=m
ot R g@ fFa gue?

e (Option ID = 147590 )

North/3<¥

e (Option ID = 147591)
South/gf&ror
e (Option ID = 147592)

Eastfl]fq:

e (Option ID = 147593 )

Data inadequate/m 3y
Option ID :-0Correct Answer :-(Option ID = 147590 ) North/3<X
16)

Question ID :- (Question ID =51923)

Question Description :- HP12_GENERAL APTITUDE_SET4Q2



Question Stimulus :-
DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./AIExT: :ﬁ%ﬁ'EWWﬁW$W&ﬁ?WWWW

e § | U faT e 9 SU= B I A1 8 HA 81 3 Idyd au @ i udla gl 8l |

I frepul # ufen bR aa Fifore i 2w e Aewut & A Fi9 1 ahiTa 3 A SgIR1 BT
2, IR WaTd oo W |

Statements:/®Y:
Some cars are wheels./[$S PR, TI'%E % |
All wheels are branches./@} TI'%E{, STW% |
Some branches are tins./$® mﬁl’lﬁ, s % |
Conclusions:/ fsa:
l. Some cars are branches./[$® PR, siferar & |
Il. Some tins are branches./[®® ﬁT-l, E'Iﬁ'lﬁ% |
e (Option ID =147554)
If only Conclusion | foIIowsI'CIﬁ' Had frspd | ST HIdT %
e (Option ID = 147555
If only Conclusion Il foIIowsI’EIﬁ Had e 1| ST HIdl %
e (Option ID = 147556)
If neither Conclusion | nor Il foIIowsl'CIﬁ J ey 171 SIJHRUT Il %
e (Option ID = 147557 )
If both Conclusions | and Il foIIowIﬂﬁEﬂTﬁ'ﬁWﬁf Glﬂ'\qwaﬂ?f%

Option ID :-0Correct Answer :-(Option ID = 147557 ) If both Conclusions | and Il followrafq ﬁ'-'-ﬁ'

frepd srgeR ea §

17)

Question ID :- (Question ID = 51934 )

Question Description :- HP12_ GENERAL APTITUDE_SET4Q13

Question Stimulus :-

If 29t April 2013 is Monday then what is the day on 30" November 2013?/Af¢ 29 31U 2013
%1 YIHAR @ d1 30 TdaR 2013 B B 1 {3 ghm?

« (Option ID = 147598 )

Saturdayl’sdﬁﬁﬂ



« (Option ID = 147599 )
Thursday/([edIR

« (Option ID = 147600)
Tuesday/HddR

« (Option ID = 147601 )

Monday@'ﬂﬂ'ﬁ

Option ID :-0Correct Answer :-(Option ID = 147598 ) Satu rdayfsl'lﬁa'l?



